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        2  Hours                  Maximum Marks  : 60 

 
NB :  1. Ensure that you have received the Correct Question Paper ; 

 2. Do not reveal your identity anywhere on the Answer Sheet ; 

 3. Provide Examples / Illustrations / Citations wherever required / needed. 

 
Q.1 Answer Any Six of the Following :      (6 X 2 = 12 Marks) 

 

 (a) What is ‘Tax deduction at source’ under the Income Tax Act ? 

 

 (a) Define Long Term Capital Asset as per the provisions of the Income Tax Act. 

 

 (b) What is Self Assessment as per the provisions of the Income Tax Act ? 

 

 (c) What is Indirect Taxation ? 

 

 (d) Define Income from Other Sources ? 

 

 (e) Explain the term ‘Person’ as defined under the  Maharashtra State Professional, Trade, Callings 

and Employment Act, 1975 ? 

 

 (f) What do you  understand by Savings based Deductions ? 

 

 (g) Define Assessment Year under the Income Tax Act ? 

 

 (h) What are the difference between an ‘Assessee’ and a ‘Person’ as per the provisions of the 

Income Tax Act ? 

 

 (i) When and why was GST introduced in India ? 

 

 

Q.2  Answer Any Two of the Following :      (2 X 6 = 12 Marks) 

 

 (a) Explain the Procedure for Assessment under the Income Tax Act 1961?  

 

 (b) What is Dual GST Model? Explain It's Features?  

 

 (c) Explain the concept of a House Property Lease Transaction & Taxation process thereof.  

 

 (d) Explain Professional Tax and it’s applicability. 
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Q.3  Answer Any Two of the Following :      (2 X 6 = 12 Marks) 

 

 (a) Discuss and critically analyse the Vodafone Limited Versus Union of India case. 

 

 (b) Ms. Amrita incurred a loss of in Speculative Business. Advise whether she can adjust this loss 

against the profit of her normal business ? Critically analyse the facts of the matter. 

 

 (c) Mr. Akash received pension of Rs.10,000 from his former employer and aSalary of Rs. 50,000 

from his current employer in the Previous Year.  

         What are the provisions for changeability of Income received under the head ‘Salary’ as per  

         the provisions of the Income tax Act of India. Also, elaborate giving reasons as to which of   

         the Incomes as earned by Mr. Akash will be chargeable in the Previous Year and under which  

         Head. 

 

 (d) Ms. Sarita supplied goods worth Rs. 30,000 to Mr. Amol. Discuss with reasons whether this 

will be considered as a Taxable event under GST Act ? 

 

 

Q.4  Answer Any Two of the Following :      (2 X 12 = 24 Marks) 

 

 (a) Explain and analyse the salient provisions of the GST Act. 

 

 (b) Discuss and analyse the various provisions of the Maharashtra State Professional, Trade, 

Callings and Employment Act, 1975. 

 

 (c) Elaborately discuss the various provisions related to determining the Residential Status of 

different classes of Assesses as per the provisions of the Income Tax Act. 

 

 (d) Write a detailed analysis of the various deductions and exemptions available under the various 

provisions of the Income Tax Act. 

 

 

_______________________ 
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      २ तास     गुण ६०  
 

प्र.१ खालीलपैकी कोणत्याही सहा प्रश्ाांचे उत्तर द्या :                                       (६ X २ = १२ गुण)  

 

 a. आयकर कायद्याांतगगत 'स्रोतावरील कर कपात' म्हणज ेकाय ? 

 b. आयकर कायद्याच्या तरतुदींनुसार लॉन्ग टर्ग कॅपपटल अॅसेटची व्याख्या करा.  

c. आयकर कायद्याच्या तरतदुींनुसार स्व-रू्लयाांकन म्हणजे काय ?  

d. अप्रत्यक्ष कर म्हणज ेकाय ? 

e. इतर स्त्रोताांकडून पर्ळणाऱ्या उत्पन्नाची व्याख्या करा. 

f. र्हाराष्ट्र स्टेट प्रोफेशनल, टे्रड, कॉललग्स अँड एम््लॉयर्ेंट ऍक्ट, 1975 अांतगगत पररभापित केलयाप्रर्ाणे ‘पसगन ’या  

    शब्दाचा अर्ग काय आह,े त ेस्पष्ट करा. 

g. बचत आधाररत वजावट म्हणज ेकाय ? 

h. ‘असेसर्ेंट विग’ म्हणज ेकाय ? 

i. आयकर कायद्याच्या तरतुदींनुसार ' असेसी ' आपण 'पसगन' याांच्यात काय फरक आह े? 

j.  भारतात जी.एस.टी कधी आपण का लाग ूकरण्यात आला ? 

 

प्र.2 खालीलपैकी कोणत्याही दोन प्रश्ाांचे उत्तर द्या :                                           (२ X ६= १२ गुण) 

 a. आयकर कायदा 1961 अांतगगत रू्लयाांकनाची प्रक्रिया स्पष्ट करा. 

b.  डु्यअल जीएसटी र्ॉडले काय आह?े त्याची वैपशष्ट्ये स्पष्ट करा. 

c.  हाऊस प्रॉपटी लीज व्यवहाराची सांकलपना आपण त्यावर कर आकारणी प्रक्रिया स्पष्ट करा.  

d.  व्यावसापयक कर आपण त्याची आकारणी ची क्रिया स्पष्ट करा. 

 

प्र.3 खालीलपैकी कोणत्याही दोन प्रश्ाांचे उत्तर द्या :                                       (२ X ६= १२ गुण) 

 a. वोडाफोन पलपर्टेड पवरुद्ध युपनयन ऑफ इांपडया प्रकरणाच्या पनणगयावर चचाग करा आपण त्याचे सर्ीक्षकीय 

पवशे्लिण करा. 

 

b.  सुश्री अरृ्ता याांना सट्टा व्यवसायात तोटा झाला. पतला हा तोटा पतच्या सार्ान्य व्यवसायातील नफ्याशी जुळवून  

     घेता येईल का ? क्रदलेलया पररपस्र्ती वर सपवस्तर चचाग करा. 
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c. र्ागील विागत, श्री आकाशला त्याच्या र्ाजी पनयोक्त्याकडून रु. 10,000 पेन्शन पर्ळाली आपण त्याच्या वतगर्ान  

     पनयोक्त्याकडून पगार रु. 50,000  पर्ळाला. भारताच्या आयकर कायद्याच्या तरतुदी प्रर्ाणे  'पगार' या  

     शीिगकाखाली प्राप्त उत्पन्नाच्या बदलतेसाठी काय तरतदुी आहते. तसेच, श्री आकाशने पर्ळवलेल ेयापैकी कोणत े 

     उत्पन्न र्ागील विागत आकारल ेजाईल, ते ओळखा आपण त्याचे कारण स्पष्ट करा. 

 

d.  कु. सररता याांनी रु. 30,000 चा र्ाल, श्री अर्ोल याांना पुरवठा केला. जीएसटी कायद्याांतगगत ही करपात्र घटना  

     म्हणून गणली जाईल का, यावर, कारणाांसह चचाग करा. 

 
 

प्र.४  खालीलपैकी कोणत्याही दोन प्रश्ाांचे उत्तर द्या :                                        (२ X १२ = २४ गुण) 

 a. भारतीय जी.एस.टी कायद्याची ठळक वैपशष्ट्ये स्पष्ट करा आपण त्याांचे पवशे्लिण करा. 

b.  र्हाराष्ट्र राज्य व्यावसापयक, व्यापार, कॉललग आपण रोजगार कायदा, 1975 र्धील पवपवध तरतुदींची चचाग  

      आपण पवशे्लिण करा. 

c. आयकर कायद्याच्या तरतदुींनुसार पवपवध वगाांच्या रु्लयाांकनाांची पनवासी पस्र्ती पनपित करण्यासांबांधीच्या  

     पवपवध तरतुदींची सपवस्तर चचाग करा. 

d. आयकर कायद्याच्या पवपवध तरतुदींनुसार उपलब्ध असलेलया पडडक्शन आपण एक्सम््शन याांचे तपशीलवार  

     पवशे्लिण करा. 

 

______________________________ 
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